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1. 1) State the physiological changes that would occur in the following structures if the

environmental temperature was raised gradually from 22% to 40° ¢ (2mks)
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(ii) The government of Kenya has for a long time tried to ban the use of skin lightening

cosmetics, but some people continue using them . State two adverse effects such cosmetics may

have on the skin. (2mks)
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2. The diagram shown below represents a male reproductive system.
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(a)Name the structure labelled X i C (1mk)
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(b)Name one substances that pass through structure labelled Y
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The table below shows the oxygen consumption and carbon (IV) oxide released at rest by
a number of animals under certain conditions.

Animal Body Carbon (IV) oxide | Oxygen Respiratory Quotient
mass(g) | released in cm’ per | consumption in
hour cm’ per hour
Mouse 20 39 40 ©915/~ (D ?
Dog 10000 1960 2800 o
a) Complete the table in the last column showing respiratory quotient. (2marks)
b) From the completed table suggest which animal was oxidizing. ( 2marks)
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4, Name any one physiological process in plants that may be affected by dust as a pollutant.
(1mk)
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5. a)Name the causative agent for amoebic dysentery. . (1mk
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b) State two preventive measures of schistosomiasis in human beings ‘ (2mk)
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6. a)l\fafmg#ﬁmgrgor%ﬁtﬁgt stimulate the maturation of the graafian follicles to releas(e%%gture
ovum in female reproductive cycle. (1mk)
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8. An experiment was carried out to investigate the rate of reaction shown below.

Sucrose—>Fructose + glucose

For the products fructose and glucose to be formed, it was found that substance K was to be
added and the temperature maintained at 37°C. When another substance L was added, the

reaction slowed down and eventually stopped.

(a) Suggest the identity of substance K and L (2 marks)
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, (b) Other than temperature, state three ways by which the rate of reaction would be increased.
(3marks)

9.Inan experimeﬁt, the concentra‘{ion of ions in the cell sap of reeds growing in a swampy area
and the water in the swamp were determined. The data below was obtained. Study it and

answer the questions that follow:

Sample Nat | Mg? ar SO4*
Cell sap 50 11 101 13
Swamp water | 1.2 30 10.2 0.67
a) Name the process by which uptake of the following ions by the reeds occurs. (2 marks)
Na“ions ... ﬁ Chue, HOnspoe
Mg?* ions DL .k S

b) What effect would reduced oxygen supply have on the uptake of sulphate ions? (2 marks)
Explain your answer.
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(h) What is the function of the structure labeled B? A . . 1mk
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11. State the importance of decomposers in an ecosystem (2mks)
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14. List three advantages of asexual reproduction in plants. (3 marks)
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15. The diagram below represents a stage during cell division.

(a) (1) Identify the stage of cell division. (1 mark)
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% (b) Name the structures labelled M. (1 mark)

16. Explain why there is increased heart beat during vigorous exercise inman. (2 marks)
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17. The diagram below shows half a flower.
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(a) Identify the structure that develop into a fruit wall after fertilization. (1 mark)
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(b)Name the structure labelled B and F. A

18. The diagram below represents a transverse section of a lower Jeaf epidermis of a plant.
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a) State two adaptive featurgs shown in the diagram. ((Zmarks) 1
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b) Name the habitat of the plant. (1mark)

15 A farmer accidentally cut his lower part of leg with a hoc while digging. Though the cut was

minor, he continued to bleed long after the accident. It was then evident he had deficiency of a certain

vitamin and mineral ions.

a) Name the vitamin and the mineral ions . (2mks)
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b) _Explain the importance of blood clotting. . (2marks)
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20. To estimate the population size of mosquitoes in shikoti village, Kenya Medical Research Institute
researchers caught 400 mosquitoes which they marked and released. After 24 hours 200 mosquitoes were

caught out of which 80 had the marks.

» a) Suggest the possible instrument that may have been used for capturing the insects. (1 mark)
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b) Estimate the population size of the mosquitoes in the village. (2marks)
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i Identify the part of the light nficroscope whichserve eacl of the functions described

below

(i) Making rough focus (1mk)
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22, State the functions of the following parts of a nephron

(i) Loop of Henle (1mk)
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23. What is the significance of transpiration in plants? (3mks)
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